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I. MODEL SELECTION B

. MODEL SELECTION

A. Encoders

i. Measuring Methods: You should choose one of “Incremental” encoders. OACIS cannot be
compatible with “Absolute type” signals and does not work properly.

ii. Output Signals: There are two options such as “TTL” and “Vpp”. OACIS is compatible with only
“TTL (5V)” signal. You should select one of ‘T L1 TTL" output signal models.
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iii. If you use “Vpp” type (Sinusoidal) signal encoder, you need to use a proper signal converter
to change the signal to TTL. HEIDENHAIN Interface Electronics (IBV or EXE series) could be one
of options.
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Il. EXAMPLE #1

A. Selected Model: HEIDENHAIN #ROD 270 18000 03S12-03

I. Measuring Method: “Incremental”
ii. Output Signals: “TTL”
iii. Line Count: “18000”
iv. Interpolation: “5-fold”

B. OACIS Input Signals: LINE RECEIVER

C. Pulse Ratio in the System Configuration: 1000 (= 18000 x 5 x 4 / 360)

Il. EXAMPLE #1

D. Pin Map
OACIS DK Channel HEIDENHAIN #ROD 270
(DSUB 9PIN) (12-pin connector)
Pin # Description Pin # Description
1 *Vee (SV) ;z(élB.Eg;NNIGREEN) Lsznsor Up
2 oV 10 (WHITE/GREEN) ov
11 (WHITE) Sensor 0V
3 A 5 (BROWN) Ua1
4 IA 6 (GREEN) /Ua1
5 B 8 (GRAY) Ua2
6 /B 1 (PINK) /Ua2
7 Y4 3 (RED) Ua0
8 1z 4 (BLACK) /Ua0
9 Shield Shield Shield

i. HEIDENHAIN “/Uas”(Pin#7) is not to be connected.
ii. Different HEIDENHAIN connector has different Pin Number. You need to see the description
carefully. Above example is for #02512-03 or #03S12-03.

E. Set Encoder Inputs in System Configuration

-
¥ OACIScom - SYSTEM CONFIGURATION
CONFIGURATION NAME
AXES | ANALOG INPUTS
UNIT |mm

UNIT deg v

I OPEN from OACIS I OPEN from PC I SAVE OACI S & PC I SAVE PC

| R5232 Ports

DIRECTION |+

I LINE RECEIVER ENCODER INPUT (LINE RECEIVER) CHANNEL #1

DIRECTION |- -

PULSE RATIO

PULSE RATIO

ESEER™X™)

DATE and TIME

ENCODER INPUTS |

0000000

0001000 =




lll. EXAMPLE #2

lll. EXAMPLE #2

A. Selected Model: HEIDENHAIN #ROD 270 18000 03S12-03

I. Measuring Method: “Incremental”
ii. Output Signals: “TTL”
iii. Line Count: “18000”
iv. Interpolation: “10-fold”

B. OACIS Input Signals: LINE RECEIVER

C. Pulse Ratio in the System Configuration: 2000 (= 18000 x 10 x 4 / 360)

D. Pin Map
OACIS DK Channel HEIDENHAIN #ROD 270
(DSUB 9PIN) (12-pin connector)
Pin # Description Pin # Description
1 *Vee (3V) ;z(élB_E(E);NNIGREEN) LSj::nsor Up
2 oV 10 (WHITE/GREEN) ov
11 (WHITE) Sensor 0V
3 A 5 (BROWN) Ua1
4 IA 6 (GREEN) /Ua1
5 B 8 (GRAY) Ua2
6 /B 1 (PINK) /Ua2
7 Y4 3 (RED) Ua0
8 1z 4 (BLACK) /Ua0
9 Shield Shield Shield

E. HEIDENHAIN “/Uas”(Pin#7) is not to be connected.

i. Different HEIDENHAIN connector has different Pin Number. You need to see the description
carefully. Above example is for #02S12-03 or #03S12-03.

F. Set Encoder Inputs in System Configuration

-
£ OACIScom - SYSTEM CONFIGURATION

CONFIGURATION NAME

OPEN from OACIS OPEN from PC SAVE [OACIS & PC | SAVE PC

[ |

DATE and TIME

AXES AMALOG INPUTS R5232 Ports ENCODER INPUTS |

T

UNIT |mm DIRECTION |+ PULSE RATIO 0000000
LINE RECEIVER ENCODER INPUT (LINE RECEIVER) CHANNEL #1
UNIT deg - DIRECTION - hd PULSE RATIO 0002000 %
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IV. EXAMPLE #3

A. Selected Model: HEIDENHAIN #ST 1278

i. Measuring Method: “Incremental”

ii. Output Signals: “TTL”

ii. Signal period: “4 um”
V. Interpolation: “None”

B. OACIS Input Signals: LINE RECEIVER

C. Pulse Ratio in the System Configuration: 1000 (= 1/ 0.004 x 4)

IV. EXAMPLE #3

D. Pin Map
OACIS DK Channel HEIDENHAIN #ST 1278
(DSUB 9PIN) (12-pin connector)

Pin # Description Pin # Description
1 #e (5V) 2ioe) Sensor Up
2 oV 10 (WHITE/GREEN) ov

11 (WHITE) Sensor 0V
3 A 5 (BROWN) Ua1
4 IA 6 (GREEN) /Ua1
5 B 8 (GRAY) Ua2
6 /B 1 (PINK) /Ua2
7 z 3 (RED) Ua0
8 1z 4 (BLACK) /Ua0
9 Shield Shield Shield

E. HEIDENHAIN “/Uas”(Pin#7) is not to be connected.

i. Different HEIDENHAIN connector has different Pin Number. You need to see the description
carefully. Above example is for #ST 1278 or ST 3078.

F. Set Encoder Inputs in System Configuration

-
£ OQACIScom - SYSTEM CONFIGURATION

CONFIGURATION NAME

UNIT [mm

UNIT mm -

ANALOG INPUTS

OPEN from OACIS OPEN from PC SAVE (OACIS & PC | SAVE PC

R5232 Ports

DIRECTION |+

LINE RECEIVER ENCODER INPUT (LINE RECEIVER) CHANNEL #1

DIRECTION - -

PULSE RATIO

PULSE RATIO

[ |

DATE and TIME

ENCODER INPUTS |

0000000

0001000 =
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V. EXAMPLE #4

V. EXAMPLE #4

A. Selected Model: HEIDENHAIN #MT 1271

i. Measuring Method: “Incremental”
ii. Output Signals: “TTL”
ii. Signal period: “0.4 um”

V. Interpolation: “None”

B. OACIS Input Signals: LINE RECEIVER

C. Pulse Ratio in the System Configuration: 10,000 (= 1/ 0.0004 x 4)

D. Pin Map
OACIS DK Channel HEIDENHAIN #MT 1271
(DSUB 9PIN) (12-pin connector)
Pin # Description Pin # Description
1 *Vee (3V) ;z(élB_E(E);NNIGREEN) LSj::nsor Up
2 oV 10 (WHITE/GREEN) ov
11 (WHITE) Sensor 0V

3 A 5 (BROWN) Ua1
4 IA 6 (GREEN) /Ua1
5 B 8 (GRAY) Ua2
6 /B 1 (PINK) /Ua2
7 Y4 3 (RED) Ua0
8 1z 4 (BLACK) /Ua0
9 Shield Shield Shield

E. HEIDENHAIN “/Uas”(Pin#7) is not to be connected.

i. Different HEIDENHAIN connector has different Pin Number. You need to see the description
carefully. Above example is for #MT 1271 or MT 2571.

F. Set Encoder Inputs in System Configuration

-
3 OACIScom - SYSTEM CONFIGURATION

OPEN from OACIS OPEN from PC SAVE [OACIS & PC | SAVE PC

CONFIGURATION NAME DATE and TIME
AXES ANALOG INPUTS R5232 Ports ENCODER INPUTS |
T
UNIT |mm DIRECTION |+ PULSE RATIO 0000000
LINE RECEIVER ENCODER INPUT (LINE RECEIVER) CHANMNEL #1
UNIT mm - DIRECTION - - PULSE RATIO 0010000 $
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VI. EXAMPLE #5

VI. EXAMPLE #5

A. Selected Model: “Encoder” + “Interface Electronics”
i. Drum Encoder: HEIDENHAIN #AK ERA 4280C 28000
a. Output Signals: “1Vpp”
b. Signal period / rev: “28000”

ii. Interface Electronics: HEIDENHAIN #IBV660B 400-fold
a. Measuring Method: “Incremental”
b. Input Signals: “1Vpp”
c. Output Signals: “TTL”
d. Design: “Box design — IP 65”
e. Interpolation: “400-fold”
B. OACIS Input Signals: LINE RECEIVER

C. Pulse Ratio in the System Configuration: 124,445 (= 28,000 x 400 x 4 / 360)

D. Pin Map
OACIS DK Channel HEIDENHAIN #IBV660B
(DSUB 9PIN) (12-pin connector)
Pin # Description Pin # Description
1 *Vee (SV) ;z(élB.Eg;NNIGREEN) ggnsor Up
2 oV 10 (WHITE/GREEN) ov
11 (WHITE) Sensor 0V
3 A 5 (BROWN) Ua1
4 IA 6 (GREEN) /Ua1
5 B 8 (GRAY) Ua2
6 /B 1 (PINK) /Ua2
7 Y4 3 (RED) Ua0
8 1z 4 (BLACK) /Ua0
9 Shield Shield Shield

E. HEIDENHAIN “/Uas”(Pin#7) is not to be connected.

Different HEIDENHAIN connector has different Pin Number. You need to see the description

carefully. Above example is for #IBV660B.
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V. EXAMPLE #5

F. Set Encoder Inputs in System Configuration

;
& OACIScom - SYSTEM CONFIGURATION [E=NEER
| OPEN from QACIS | OPEN from PC | SAVE (OACIS & PC) | SAVE (PC

CONFIGURATION NAME DATE and TIME

AXES | ANALOG INPUTS | RS232 Ports ENCODER INPUTS |

UNIT |mm DIRECTION |+ PULSE RATIO 0000000 2

I LINE RECEIVER ENCODER INPUT (LINE RECEIVER) CHANNEL #1
UNIT deg - DIRECTION |- - PULSE RATIO 0124445 EI

=
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